SA Ol
A AWM 2 (LSS HE/NLHE - THERIY)
el 288 HE=2Y (SH9 M)
SA - FE - SRA(3H) - MRAE - BES Ofl &F28 I8N Hws2
Oll &4t 412,397,169 373,898,919 38,498,250
ANWE 2 (L SI Y/ NLHE - HEXE) 395,987,448 340,789,198 55,198,250
S8 ME3=2Y 395,987,448 340,789,198 55,198,250
EES ME=2g 3,932,250 4,793,000 A860,750
201 er= 3| 1,639,250 2,100,000 460,750
03 A2 HHI 339,250 800,000 A460,750
OJIAE8S2d 339,250 800,000 A460,750
202 Ot 1,600,000 1,800,000 200,000
04 =XI2t01] 600,000 800,000 £200,000
(OPJE = i==tages 600,000 800,000 £200,000
301 LEEEZ 200,000 400,000 £200,000
08 212+91=2|044| 100,000 200,000 100,000
(OPJIC = 1==pages 100,000 200,000 100,000
1 SAREIXES 50,000 150,000 100,000
OJIA38S2E 50,000 150,000 100,000
Al-2 HEEH 391,275,000 335,216,000 56,059,000
308 XIXIEME0IH 391,275,000 335,216,000 56,059,000
Al - 2X2HNRS 391,275,000 335,216,000 56,059,000
(CEIESSINE =) 347,125,500 292,766,400 54,359, 100
OSEXFNRS 38,569,500 32,529,600 6,039,900
Ostggd= 5,580,000 9,920,000 24,340,000
GiiHIel (o8] /0iBI8l) 12,221,334 28,921,334 16,700,000
Gll=]ls] 12,221,334 28,921,34 16,700,000
ollg bl 12,221,334 28,921,34 16,700,000
801 OflHIH 12,221,334 28,921,334 16,700,000
01 EHolbIgl 8,921,334 22,921,334 14,000,000
(CEELL ] 8,921,334 22,921,334 14,000,000
02 XHaH - TS Ao 3,300,000 6,000,000 2,700,000
OXHoll - = 0HI8 3,300,000 6,000,000 2,700,000
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Dol YRR (DS/ROUEESDS)

9 SDSX 22 NY(SDEX LI SEH) (cr9: &8
SA - BB SR(B) - HIRAY - BES ol erey ol 3 o DS
QIS H 24,815,183 11,792,000 13,023, 183
DA} 2RSS (DS/R0LESSLS) 13,683,531 204,072 13,389,450

SIS =R N8 (ANSNLESSLs) 13,683,531 204,072 13,389,450

SmEX == X8 13,683,531 204,072 13,389,450
308 XXISHHSOIH 282,654 204,072 A11,418

2 Y4023 282,654 204,072 A11,418

0T+ RT3 282,654 204,072 A11,418

703 DEHISEIHNES 13,400,877 0 13,400,877

01 Al & UEEES 13,400,877 0 13,400,877

O%tn ZEH| X 13,400,877 0 13,400,877
CEICTEIEEED 102,982 117,050 14,068
oHIHI (St DEX P ESS ) 102,982 117,050 14,063
S 102,982 117,050 14,063

801 0f1HI I 102,982 117,050 14,063

01 Btofbib| 102,982 117,050 14,068
CLIETE 02,982 117,050 14,068
WLES(QHSE) (RS/FOLESSDR) 11,028,670 1,380,878 A2, 208
2 Heh XIS (S SN e 3S25) 11,028,670 11,380,878 A3E2,208
o= 11,028,670 11,380,878 A3E2,208
704 013 11,028,670 11,380,878 A3E2,208
IEEE] 11,028,670 11,380,878 A352,208
o3 11,028,670 11,380,878 A352,208
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